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37. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은?

 

(A) If a man delights in his wife and children, has success 
in work, and finds pleasure in the alternation of day and 
night, spring and autumn, he will be happy whatever his 
philosophy may be. 

(B) Man is an animal, and his happiness depends on his 
physiology more than he likes to think. Unhappy 
businessmen, I am convinced, would increase their 
happiness more by walking six miles every day than by 
any conceivable change of philosophy. 

(C) Perhaps those who have been rendered unhappy by a 
bad theory may need a better theory to help them to 
recovery, just as you may need a tonic when you have 
been ill. But when things are normal a man should be 
healthy without a tonic and happy without a theory. 

① (A) - (C) - (B)          ② (B) - (A) - (C)
③ (B) - (C) - (A)          ④ (C) - (A) - (B) 
⑤ (C) - (B) - (A)

The whole subject of happiness has been treated too 
solemnly. It has been thought that man cannot be happy 
without a theory of life or a religion. 


